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(1) ETOHHFE, KEDFHWE
(2) HEAH, BEE o Input HikkE 2 CRTIRER
(3) HHH, KA D Input
(4) Set time
(5) 4EHTT (Date), W% (Time) % CRTIC#/R
(6) Data 0 &b Sta No.. Depth Zat/»iA{p
(7) Sta. No., Depth % CRTITL/R
(8) Sta. No., Depth @ Input DJjiks &% CRTITE/NR
(9) Sta. No., Depth @ Input
(10 Sta. No.. Depth %# CRTITE/R
an GER (D) OIE
12 KhFuw—7 (214 F) OHER2 CRTICLR
13) e () OFIE
(14) Neil Brown CTDXH P, T, CZaAHiAle
15) POY¥ (FofkaDo) it
(16) IR D 20
(1" Neil Brown CTDX b P, T, CZ%&HAL
a8) P (I) = P(I)—DO
19 F -2 [(P(D), C(D) BIELLLGL
@0y U (I,J),W((I.J) OF A4 2L s V&ITE
P — U (1, 1)
T() - U2, 1)
C(hHh —- u((3,1I)
Qn ER (D DOFHIE
e UGQ,D), U(,1), U @B,I) ®Max.,, Min., 2R ZFh 5 %+ 0 T
ERARS
@) PO=23U (1, 1)
To=2U (2, 1)
Co=23U (3, 1)
240 PO, TO, CO DY R2KOHIET %,
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(36)

37

(38)

FAYSy (Sal), ¥ 7 ~7 4 (Sig.—T), BE (o) OHARKHEEDOIZDD
DT

Error O &ML 5% % CRT ICHER

24 ko (Sta.;) & Sta, No, D7) > & CRTE/R

HE M E 7034 FEHE, B0

244 ko (Date;, Time;) & Date, Time @ 7Y > b & CRT E/R
Jl=1,J2 =1

2 4 v (Dep., Temp.. Sel., Sig.—T D7)+ & CRTER

Sal., Sig.— T, p ®il%

H ( L X 2 pn- Pn—|>
= AR L BT = - LA Lk L
P SO pgdz | v % L FE Tl Hn Hn 1+g. PR HUOH %
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Interpolation Ik b FEMOT. S, Sig.— T %38
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HI = ek — 1
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&R CTDASI B TOT 5L

10
11,
20
0
40
50
6HO
70
80
Q0
100
110
120
130
140
150
i Ho
160
170
2%1
180
190
200
210
e eta]

DATA 12,33,13%,80,1,80,2,103,3,285, 4,255, 3, 305, 6, 305,7,305,8, 155, 9,305, 10, 205,
103

!

FRINTER IS 2 & CRT IS 1

KKK KKK KKK K KK K K oK K K X K XK K Kk K

! %% FUKUI FREFECTURAL XXX

! %% FISH. LABOLATRY Xk x

' %% By Noriaki Masunaga XXX

U OKOKOKOK KKK 0K K K K K K K K K K K K XK KKK X

CLEAR

! FROGRAM =ENGAN=

DISF " Frogram=ENGAN="

DISF & DISF

DISF " Input Year,Month,Day,Time Ex.31) 8Z0112,1835%"

DISF *“ 2) Key (ENDLINE)"

DISF " 833 Year 01i;Month 12;Day 18
ur  35:Min. "

INFUT A,GO

B=IF (AX.0001) X10000 & G2=IF(GOX.01) & GO=FF(GOX.01)%100 & G1=IF(GZ/24) ® G=6
(s]8])

G=GxZ46 @ SETTIME G,B @ CLEAR & DISF @ DISF

IMAGE K,2IFP2ZIF2Z,K,2Z,K,22

DISP USING 120 ; "Date;",A," Time;",G62,":",G0

DISF Input Error;i;kKey(kl) No Errorikey (k3"
ON KEY# 1,"RETURN" GOTO 120 ® ON KEY# Z,"NEXT " GOTO 240

GOTO 230

CLEAR ® READ Y%,D

DISF & DISF

IMAGE K, K,k ,3D

DISF USING 260 3 " Sta.;",Y$," Depth;".D

DISF = DISF @ DISF " Error jkey(kl) No Error skey (KZ)"
ON KEY# 1,"ERROR" GOTO Z10 @ ON KEY# Z,"CONT" GOTO 410

GOTO Z00

CLEAR ® DISF ® DISF

DISF " Input Sta.No.,.,Depth Ex.31) 46,150 "

DISF " 2) key (ENDLINE) 46;5ta.No. 150;Depth”

INFUT Y$,D

DISF ® DISF & CLEAKR

IMAGE kK, k., k3D

DISF USING =60 ;3 "Sta.:".Y$," Depth:;”,D

DISF @ DISF & DISF " Error ;Key (k1) No Errorikey (kZ)"
ON KEY# 1,"NEWST" GOTO 310 & ON KEY# 3,"START" GOTO 410

GOTO 400

CLEAR

INTEGER I,J,K,.L,M,N

F7=1/3/400 & T7=1/Z/2000 ® C7=1/3/1000 & DISP & DISF

DISF " 1.CTD(1150) Switch ON 2.AUDIC Switch ON or OFF"
DISF " Z.SO0URCE Switch DIRECT" @ DISF " 4.key (CONT) "

DISF @ DISF " %1 Let down a senser to the depth(Dm)."

DISF " %2 Lift up a senser after the final layer is printed over.”
DISF & DISF & FAUSE

DO=0 & N1=0 & NZ=0 @ H1=0 @ M=0 @ J1=0 @ J2=0 @ H(1)=0 & G=0
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& 23%0

SO0 RESET 3 @ CONTROL Z,3 3 15
)

S10

FOR N=1 TO 3 © SEND Z ; DATA O @ ENTER Z ; F,T,C® DO=DO+F & NEXT N
1

DO=D0O/3 ® F9=D0/400

BEEF 40,1000 @ CLEAR

IMAGE K, K,k
DISF USING 560 ; "Sta.",Ys," On Observation"
]

FO=0 @ TO=0 @ CO=0 @ I=1 @ J=1

SEND Z 3 DATA O @ ENTER 3 :; F(I),T(I),C(I
F(I)=F(I)-DO

IF F(I)<8 THEN 600

IF I=1 THEN I=I+1 @& GOTO &00

IF F(D)<F(I-1) THEN 690

IF I#5 THEN I=I+1 & GOTO 600 ELSE 710

IF F(I)<400%F9 THEN 600

IF C(I)<20000 OR C(I) »60000 THEN &00

IF J=80 THEN 1420 ELSE J=J+1 & GOTO 600

1

DIM U(3,5) ,W(3,2)

FOR I=1 TO 5 & U(1,D=P(I) & U(2,D=T(I) & U3, 1)=C(I) & NEXT I
W(1,1)=0 @ W(Z,1)=0 & W(3,1)=0 ® W(1,2)=16000 & W(2,2)=60000 & W(I,2)=60000
W(1,2)=16000 & W(Z,2)=60000 & W(I,2)=60000

FOR J=1 TD 5 @ FOR I=1 TO %

WD, 1) =MAX (W(I, 1), UCI,d)) & W(I,2)=MIN(W(I,2),U(I,J))

NEXT I & NEXT J

J4=0 @ K=1 @ I=1 @ J=1

IF UK, I)-W(K,J)#0 THEN I=I+1 ® GOTO 790 ELSE U(k,I)=0 & I=1

IF J#2 THEN I=1 @ J=J+1 & GOTO 790 ELSE J=1

IF J4#2 THEN K=K+l @ J4=J4+1 & J=1 @ I=1 @ GOTO 790

FOR I=1 TO S @ FO=U(1,D+F0 & TO=U(Z,D+TO @ CO=U(I, 1)+CO & NEXT I
FO=FOXF7 @ F9=PO @ TO=TOXT7 & CO=COXC7 ® R1=.023IT0S51I4121XCO
T2=TOXTO @ T3=T2XTO @ T4=T24T2 & TS=TO-15 & F2=FOXFO & FI=FOXF2

1

IF J1=1 THEN 10S0

FRINT "Sta.:":;Y$

G=TIME & U=IF(G+GOX&L0+Z0) & N&=0 @ R=1

G=IF (U/60) & N6=N6+ (U-QX60) XRXR

IF N6-24000040 THEN 9Z0

NB8=IF (N&6/240000) ® N6=N6-240000

IF N8#G1 THEN A=A+1 & G1=G1+1

U= & R=Rx*10

IF U#0 THEN 890

Mo6=IF (N6X.0001) & M7=FF(N&6X.0001) & M7=IP(M7%100)
'

IMAGE K,2ZF2ZF2Z ,K,2Z,K,2Z

FRINT- USING 970 ; Date;",A," Time;" ,M6,":" M7

IF J2=1 THEN 1560

1000 Ji=1 @ J2=1

1010 PRINT "Dep. Temp. Sal. Sig-T" & DISP " Dep. Temp. Sal. Sig-T"
1020 !

' Salinity(S0),Sigma-T(U1),Density (00

1080 LO=.6766097+.0200564%TO+.0001104259%T2-. 00000069698 T3+1.00Z1E-9%T4
1060 !



ft®% 22322

1070 L1=.000207%F0—. 0000000637 XF2+3.989E~12%FP3

1080 L2=1+.03426XTO+.0004464%T2+ (. 4215-,00T107%TO) XK1

1090 R1=R1/L0/ (1+L1/L2) & R2=R1X%R1 @ L4=TS5/ (1+.0162%TS) & RO=SER(R1)
1100 S1=,008+(-.1692+14.0941%R1+2.7081%R2) XRO+25.Z851%R1-7.0261%R2
1110 SO=S1+L4% (. Q005- (., 0056+.0375XR1+.0144%R2) ¥RO—. 0066XR1+.06T6%R2)
1120 !

1130 !

1140 S1=8S0R(80) ® S2=50%S0

1150 U1=999.842594+. 06793932%TO+ (. 00909529+, 0001001685%T0O) ¥xT2

1160 Ul=U1+(~-.000001120083+6.5Z6IZ2E-9%TO) xT4

1180 Ul=U1+(-.00572466+.00010227%TO-.0000016546%T2) XSOXS1+.00048714%52
1190 Ul=,001%U1

1200 UZ2=19652.21+148.4206%TO-2.327105%T2+.013
1210 UZ2=UZ+(54.6746-.607459%TO+. 0109987 % T2~
QOOS5Z009) XS1%S0

1220 UZ=Z.279908+. 00143713 TO+. 000116092¥T2-. 000000577905 T3
1230 U4=.0000850935-. 00000612293k TO+. 000000052787 %T2

Q477%xTZ-.00005155288%T4
DO00O6167XTI) XS0+ (. 07944+, 016483%TO—.

1240 U4=U4+ (~. 00000099748+, 00000020816%TO+F. 1697E-10%T2) ¥S0
250 UZ=UZ+UZXFO+U4XF2 @ 00=U1/(1-FO/UZ) ® U1=U1%1000-1000
1260 !

1270 IF @=0 THEN HO=0 @ Q=1 @ Fi1=0 @ 01=00 ® H(2)=0 & GOTO 1240
1280 I=1

1290 H(I+1)=H(I)+20.4081632653% (FO-F1) / (00+01)

1 0 IF H(2) :*D—-1 THEN 1420

1310 IF H(2)<H1+1 THEN V1=TO & V2=50 @ V3=U1 & FP1=PO & H(1)=H(2) & @1=1 & GOTO S
Q0

1320 HO=H1+1-H(1) @ H=HO/ (H(2)-H (1)) & TO=HX(TO-V1)+V1l & SO0=HX (SO0-Y2)+V2 & Ul=Hx
(U1-V3) +V3

13 HO=H1+1

1340 REEF

1250 IMAGE DDD,Z2X,DD.DD,2X,DD.DDD,2X,DD.DD

1260 FPRINT USING 1350 ; HO,TO,S0,U1

1370 IMAGE DDD.DD, .DD.DD,2X,DD.DD,2X,DD.DD

1380 DISF USING 1370 ;3 HO,TO0,S0,U1

1390 IF H1:x40 THEN N2=N2+1 ® H1=25%N2+50-1 & GOTO S0

1400 N1=N1+1 @ H1=10%N1-1

1410 6G0OTO 590

1420 CLEAR

1430 REEF 30,3000 @ REEF 40,3000

1440 !

1450 DISF & DISF & CLEAR

1460 DISF "(1)Intake Error"

1470 DISF " 1.Lift up a senser to your necessary laver. "

1480 DISF " 2.Let down a senser. Z.Fush a key(kZ)"

1490 DISF @ DISF "(2)Winch Man Error,Rolling or Fitching"”

1500 DISF " 1.Instruct to let down a senser against a winch
man'

1510 DISF " 2.FPush a key(k3)"

1520 DISF @ DISF " (3)0Observation End 1.Fush a key(kl)"

1570 ON KEY# 1,"END" GOTO 1550 & ON KEY# Z,"ERROR" GOTO 590
1540 GOTO 1540

1550 CLEAR @ GOTO 880

1560 FRINT @ PRINT @ FRINT @ FRINT & CLEAR

1570 GOTO 240

1580 END



